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LaplaceTransform[z[t], t, s] — > X[s] /.
LaplaceTransformlylt], t, s] — > Y][s|
sX[s]+Y[s] == s%
X1[s] = X[s] /.
Simplify[Solve[{Laplegnl, Laplegn2}, {X[s], Y[s]}][[1]]]
Y1[s]=Y]s] /.

Simplify[Solve[{Laplegnl, Laplegn2}, {X|[s], Y[s]}][[1]]]
2+ 2
z[t] = InverseLaplaceTransform[X1[s], s, t]

Needs["Graphics‘Legend];

Plot[{=[t], y[t]}, {t, —3, 3},
PlotStyle — > {{GrayLevel|0]}, {Dashing[{0.03, 0.01}]}},
PlotLegend — > {"z[t]", "y[t]"},
LegendSize — > {0.5, 0.3}];
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PlotStyle — > {{GrayLevel[0]}, {Dashing[{0.03, 0.01}]}},
PlotLegend — > {"x[t]”, "y[t]"},
LegendSize — > {0.5, 0.3}];
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(00) Needs["Calculus‘LaplaceTransform];

Clear[z, y, X, Y];

eqnl = z[t] + y'[t] == t;

eqn2 = z'[t] + y[t| == t"2;

Laplegnl = LaplaceTransformlegnl, t, s] /. y[0] — > 0 /.
LaplaceTransform[zt], t, s] — > X[s] /.
LaplaceTransformly[t], t, s] — > Y][s|

1

X[s] +5Y[s] == =

Laplegn2 = LaplaceTransformlegn2, t, s] /. z[0] — > 0/.




